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QUESTION 1

An application developer can either create a new cube or use which of the following automatically generated cubes to
look up data? 

A. Control 

B. Reporting 

C. Consolidation 

D. Virtual 

Correct Answer: A 

 

QUESTION 2

Some users would like to display an account using the account name followed by the account number. Other users
would like to display only the account name. 

Which option should the application developer use to satisfy both requirements? 

A. Create a text attribute for each requirement. 

B. Define an alias for each requirement. 

C. Define two alternate hierarchies. 

D. Create two dimensions that link to each other. 

Correct Answer: B 

 

QUESTION 3

When the source data contains more dimensions than the cube, which of the following options should be used to
summarize the unused data? 

A. Store 

B. Create 

C. Accumulate 

D. Consolidate 

Correct Answer: C 

 

QUESTION 4
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When an error is generated by a TI process, where can the application developer find the details about the script and
error? 

A. The TM1 server log. 

B. The TM1 process error log. 

C. The TM1 database error log. 

D. The TM1 cube error log. 

Correct Answer: B 

 

QUESTION 5

An application developer would like to calculate the average percentage ratio instead of the default hierarchy
consolidation, but leave the ratio calculation as it appears. 

Which of the following will do this? 

A. Use a function to determine the aggregated cells. 

B. Use an alias to determine the aggregated cells. 

C. Use a feeder statement to determine the aggregated cells. 

D. Use a C: to determine the aggregated cells. 

Correct Answer: D 
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